FALL, 2000 QUIZ 1 NAME

DUE: Friday, September 8, at the beginning of class.

1) a) (10 PTs.) Suppose A and B are subsets of a universal set Q and that n(2) = 132, n(A) = 30, n(B) = 22
and n((A U B)’) = 90. Find n(AN B). ‘

A((Av®') =40 = n(a) — n(AUB)
132 - n(AVB)

i

=> n(AvR) = 42

A (A0BY = n(AY+n(R) - n(ANR)
472 30 + 22 - n(AN®)

"

=y 472- 52-n(ANR) =) n(ANB)=10

Your answer here: n{(ANB)= ‘ Q

b) (15 pTs.) In the Venn diagram below, shade in the region corresponding to (4’ U B)' U (C N A).
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2) (25 PTS.) A survey of the 400 members of a garden club showed that 135 have planted marigolds, 85 have
planted tulips, 130 have planted roses, 60 have planted marigolds and tulips, 80 have planted marigolds and
roses, 60 have planted tulips and roses, and 205 have not planted any of the three (no marigolds, no roses,
no tulips). How many have planted all three kinds of flowers?

) A (MU TURY = A1 aC £n8 -nMAT) - n(MR) - R+ n(n TaR)
\45 - 35+ g8 +130~ 60 — 60 ~ B0 + 7

2) n(MUTURY: 400- “((Muwa)') T 400-205=\4%
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Your answer here: # that have planted all three = 45



